T3Y-J

FA{TMRIREEE (EPD)
BRES : JR-AI-21056E-A

brother

at yourside

D59 —T##% &%t / BROTHER INDUSTRIES, LTD.

IJV-JBIBESAINI 0I5 A
—BAEEAT R T T IIVIR=HERE
FRETFRBEXBRER2-2-1
https://ecoleaf-label.jo

A9 MEEH
Compact Color Inkjet All-in—One

MFC-J4535DW XL

BER{I
H@1AaHh

BENRESME
m RH&RF mlslis ]y
[FEAAHs), AEFE. TRIB. (EF. BEERERME
HmOBK, TELE - 5T
BIR : MFC-J4535DW XL
-ESRZRI7I33Y (h3-115K)
AREE 1 12.1kg. BEAh : 1.7kg
BRABEY/X (2KX215.9%x297mm)
-G3XTS
- B EhmEENRItEE
-HEHR/BHRLAN
XAREFIERAEITY
BW\WSHE %
TS -TEGRAR E5-RIB -5

TEL: 052-824-2511 ({&K) FAX: 052-821-5177

https://www.brother.co.jp/

SBBES JR-AI-21056E-A
BAPCRES PA-590000-AI-03
PCR% ESFRA L DHEE [5E30R]
NS 202146H30H

WIIS1EE 2021468248
BREEAN ST LGRS
RIEES JV-AI-21056
BRI 20266823
PCRLE1—-DRitE
SREHZ 201941188H
FER #lF 82
(—HEHEEAN Y AT TR EHEERARE)
B=ERGIE*
NEMREER AN 5

ISO14025(CE D e AREERUT —5 DML UTARFE
OPEB m 515D

¥ RT LATEPER T TEBEANOREEDIES(F. S AT LRZTo
EEEOLAIZ .

EiHES ¢ JR-AI-21056E-A


https://www.brother.co.jp/

IaJ-J

A{TMRIBES (EPD)
Zi&ES . JR-AI-21056E-A

IJU-JRIBESANINI OIS A
—MRAEEAD XTI T IVIRSHEERE
RREBTFRBXEBZEH2-2-1
https://ecoleaf-label.jp

OS54 T4 DIV EFHTiER

0% 20% 40% 60% 80% 100%
SEZE IPCC 2013 GWP 100a 290 | kg-CO2eq
[iv4eZld 0.18 | kg-S0O2eq
BRHE 0.010 | kg-Sbeq 6
EQEMEREE sQEE nQRE nOEA-HIEEE s OFE- Y
PER B ==ty &5t OEMBRE QEE Qi | oERm - wisEE| OBEE - VI
S{RZEE) IPCC 2013 GWP 100a | kg-CO,eq | 2.9E+02 | 1.9E+02 | 9.4E+00 | 9.7E4+00 | 5.6E+01 | 2.5E+01
ESEAL kg-SO.eq | 1.8E-01 || 1.4E-01 | 1.4E-03 | 1.9E-02 | 1.3E-02 | 1.5E-02
B kg-Sbeq | 9.6E-03 || 8.7E-03 | 2.8E-05 | 4.1E-05 | 8.3E-04 | 1.7E-05
@ MBI OIS (CET D1aR%H
EH ==ty ER =21y}
IEBAENEEER 1.2E+01 kg - E 1.9E+00 kg
JEBLERRET RILF— 1.0E+02 kg SuUs 3.9E-02 kg
BATEEER 1.6E4+01 kg FILEZ A 7.5E-03 kg
B4R T RILF— 1.9E+02 M ZOMERE 4.6E-03 kg
RIKODEER 1.8E-01 m3 TSIFvY 6.6E+00 kg
N 1.7E-01 kg
HSR 6.5E-01 kg
T N 1.5E+00 kg
FREEEPEER 2.0E+00 kg
ZOAh 9.2E-01 kg

OREMRICEY SEMFH

ERREOEESZE (SFUA)

Jro2=Y (EDRXAHE) . BEMEMBERE : 5. XS : 48,0004
BIAERER/(F—>  ITUT No.1F+v— b EIRIABHREIRIEEREICEF/RL)




IaJ—-27 IJV-JBESANID OIS A

g —BRDEAT 27T T LB
SATIBIEES (EPD) T R BRI EE2-0-1

Z8RES © JR-AI-21056E-A https://ecoleaf-label.ip

©-1.€DMOIRIFEEERH
ABROMETERE EEBHROA > IRUAY REIEFISO14001FABR TIHICTITON TLET,

QERULEZRT—HDERS
IDEA v2.1.3 RUTIU—TJRESNILTOYS ABHRFREAL v1.10 ZEAUE,

® "%
20214678278 @5 THADILA >R NUSHBIERELR : kDM BEDEE

0 —FEFEDHEF. PCREKXUETRE - EEHREZSRULTIIZE,
OLLEXC DT IE. B - EERBE(CRESNIERMEBIUBSICUNRHESNER A,
(BH85URL : https://ecoleaf-label.jp/regulation/)
EixEsS . JR-AI-21056E-A



